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Which one of the following was a non-monarchical mahajanapada?

. Avanti

. Vrij1 or Vajj
3. Vatsa

4. Kosala

Options :

I =

68019125301. 1
68019125302. 2
68019125303. 3
68019125304. 4

Question Number : 1 Question Id : 6801916452 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68019125301. 1
68019125302. 2
68019125303. 3

68019125304. 4

Question Number : 2 Question Id : 6801916453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On Samudragupta's Battle Axe type coins. the king 1s described as wielding the
axe of :

1. Aditya

2. Parashuram

3. Shiva

4. Kritanta (yama)

Options :

68019125305. 1
68019125306. 2
68019125307. 3

68019125308. 4

Question Number : 2 Question Id : 6801916453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019125305. 1
68019125306. 2
68019125307. 3
68019125308. 4

Question Number : 3 Question Id : 6801916454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The earliest capital of Magadha was at Rajgir. which was also called

1. Anga

2. Pataliputra
3. Kushmagar
4. Girivraja

Options:

680191253009. 1
68019125310. 2
68019125311.3

68019125312. 4

Question Number : 3 Question Id : 6801916454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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68019125309. 1
68019125310. 2
68019125311. 3

68019125312. 4

Question Number : 4 Question Id : 6801916455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-T with List-II

LISTI LISTII
(Author) (Book)
A |KP Javasawal | I. |History of British India
B. |F.C. Majumdar| II. |The Wonder that was India
C. |James Mill IT1. |[Hindu Polity
D. |AL.Basham |IV |Hindu Colonies in the Far East

Choose the correct answer from the options given below:

. (A) - (IV). (B) - (II). (C) - (I). (D) - (II)
. (A) - (1), (B) - (IIT). (C) - (IT). (D) - (IV)
- (A) - (). (B) - (II). (C) - (IV). (D) - (I1I)
- (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

|

e Tao

Options :

68019125313. 1
68019125314. 2
68019125315. 3

68019125316. 4

Question Number : 4 Question Id : 6801916455 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gt 1 Y fHaE $ifern

W |, Ot sgara | @ |85 sl fafexr Sfean

(B) [sR diAsEER | an T =R & A= Sfean

(©) o e (1| feg vifete

(D) |1 Ta. §1¥H (Iv)|feg DIdHTE 31 &l BR 3%

A feu e fosed B 9 981 S I |

L. (A)-(IV). (B)-(IIL). (C)-(I). (D)-(II)
2. (A)-(I). (B)-(III). (C)~(II). (D)-(IV)
3. (A)-(I). (B)-(II). (C)~(IV). (D)~(I1T)
4. (A)-(IID). (B)-(IV). (C)-(I). (D)-(I)

Options:

68019125313. 1
68019125314. 2
68019125315.3
68019125316. 4

Question Number : 5 Question Id : 6801916456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The great Buddhist temple of Borobudur 1s located in

. Jakarta

. Java

3. Champa
4. Tamralipti

| R

Options:

68019125317. 1
68019125318. 2
68019125319. 3



68019125320. 4

Question Number : 5 Question Id : 6801916456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019125317.1
68019125318. 2
68019125319. 3

68019125320. 4

Question Number : 6 Question Id : 6801916457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What 1s NOT true about the Alvars and Nayanars?

1. The male saints did not live their lives as a part of society.
2. Most of the male saints were married.

3. According to tradition. there were 63 Nayanmar saints.

4. According to tradition. there were 12 Alvar saints.

Options :

68019125321. 1
68019125322. 2
68019125323.3

68019125324. 4

Question Number : 6 Question Id : 6801916457 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019125321. 1
68019125322. 2
68019125323.3
68019125324. 4

Question Number : 7 Question Id : 6801916458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The Narrative texts of Sangam literature are called

1. Kilkanakku

2. Melkannakku
3. Virarkal

. Tolkkappiyam

ey

Options :

68019125325. 1
68019125326. 2
68019125327. 3

68019125328. 4

Question Number : 7 Question Id : 6801916458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019125325. 1
68019125326. 2
68019125327. 3

68019125328. 4

Question Number : 8 Question Id : 6801916459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII

(Book) (Author)
A |Mrchhakatikam [ |Shudraka
B. |Meghaduta II. |Bhasa
C. |Svapna-Vasavadatta I11. |Kalidas
D. |Vikramankadevacharita| IV. |Bilhana

Choose the correct answer from the options given below:

- (A) - (D). (B) - (D). (C) - (IV). (D) - (IIT)
(A) - (I). (B) - (III). (C) - (II). (D) - (IV)
- (A) - (). (B) - (IIT). (C) - (IV). (D) - (II)
- (A) - (III). (B) - (IV). (C) - (I). (D) - (II)
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e Tao

Options :

68019125329. 1
68019125330. 2
68019125331.3

68019125332. 4

Question Number : 8 Question Id : 6801916459 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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L. (A)-(II). (B)~(I). (C)-(IV). (D)-(III)
2. (A)-(I). (B)-(II). (C)~(II). (D)-(IV)
3. (A)-(I), (B)-(III). (C)-(IV). (D)-(II)
4. (A)-(IID). (B)-(IV). (C)-(I). (D)-(II)

Options:

68019125329. 1
68019125330. 2
68019125331.3
68019125332. 4

Question Number : 9 Question Id : 6801916460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in chronological order:

(A). The Guptas lost Bihar and U. P.

(B). End of Skandagupta's reign.

(C). The Gupta era started by Chandragupta L.

(D). The Hunas occupied eastern Malwa and a part of Central India.

1. (A). (B). (C). (D).
2. (B). (D), (C). (A)
3. (B). (A), (D). (C).
4. (C). (B). (D). (A).

Options :

68019125333. 1



68019125334. 2
68019125335. 3

68019125336. 4

Question Number : 9 Question Id : 6801916460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019125333. 1
68019125334. 2
68019125335. 3

68019125336. 4

Question Number : 10 Question Id : 6801916461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following facts/doctrines related to Jaimsm and identify the correct
statements:

(A). Vardhamana Mahavir attained omniscience (kaivaly), through which he
conquered misery and happiness.

(B). Jainism taught five doctrines including do not commit violence, do not tell a
lie. do not steal. do not observe continence and do possess hoard.

(C). The doctrine of Anekantavad holds that reality is simple and has single aspect.
(D). Parshva. Mahavira's predecessor. had asked his followers to cover the upper
and lower portions of their bodies.

Choose the correct answer from the options given below:

1. (B) and (D) only.
2. (A) and (D) only.
3.(A). (B) and (C) only.
4. (A). (B) and (D) only.

Options :

68019125337. 1
68019125338. 2
68019125339. 3

68019125340. 4

Question Number : 10 Question Id : 6801916461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019125337. 1
68019125338. 2
68019125339. 3
68019125340. 4

Question Number : 11 Question Id : 6801916462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Northern Black Polished Ware (NBPW) Culture 1s associated with ;

1. Rig Vedic period
2. Mauryan period

. Gupta period

4. Rajput period

L]

Options :

68019125341. 1
68019125342. 2
68019125343. 3

68019125344. 4

Question Number : 11 Question Id : 6801916462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019125341, 1

68019125342. 2



68019125343. 3

68019125344. 4

Question Number : 12 Question Id : 6801916463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
{Terms popularly used) (Terms used for.)
o i I Professional bankers and
moneylenders
8. |Sanfiavaha I Thg Company functioned i Southern
India
C. |Srenis/guilds 11| The caravan leader

Organisations of producers/companies

D. [Manigramam V],
of merchant

Choose the correct answer from the options given below:

(A) - (). (B) - (I1). (C) - (II). (D) - (IV)
. (A) - (II). (B) - (IIT). (C) - (I). (D) - (IV)
. (A) - (1), (B) - (1II), (C) - (IV), (D) - (1)
. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (I)

fag B2 —

e

Options :

68019125345, 1
68019125346. 2
68019125347.3

68019125348. 4

Question Number : 12 Question Id : 6801916463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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L. (A)=(I). (B)-(II). (C)-(III). (D)-(IV)

- (A)-(IT). (B)-(III). (C)-(I). (D)-(IV)
- (A)-(I). (B)-(III). (C)-(IV). (D)~(II)
- (A)-(II). (B)-(IV). (C)-(I). (D)-(II)
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Options :

68019125345, 1
68019125346. 2
68019125347.3

68019125348. 4

Question Number : 13 Question Id : 6801916464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following about the relation's between Akbar and Portuguese and
identify the correct statements:

A. The Portuguese captured Diu in 1560 and Akbar had come in touch with
Portuguese after the Mughal conquest of Deccan.

B. Akbar met the Portuguese in Surat and wanted to establish friendly relations
with them.

C. In 1573, Akbar granted the Portuguese traders at Cambay. exemption from
paying custom duties on goods imported by them.

D. In 1585. Akbar appointed an army under Qutbuddin Khan to help the
Portuguese.

In light of the above statements. choose the correct options given below.

. (A) and (C) only
(A) and (D) only
. (B) and (D) only
.(B) and (C) only.

- =

e s



Options :

68019125349. 1
68019125350. 2
68019125351. 3

68019125352. 4

Question Number : 13 Question Id : 6801916464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019125349. 1
68019125350. 2
68019125351. 3

68019125352. 4

Question Number : 14 Question Id : 6801916465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
Who built Kailasanatha temple of Ellora?

1. Rashtrakuta emperor Krishna I
2. Rashtrakuta emperor Krishna IT
3. Chola ruler Rajendra I

4. Pallava ruler Rajsingh

Options :

68019125353, 1
68019125354, 2
68019125355. 3
68019125356. 4

Question Number : 14 Question Id : 6801916465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019125353. 1
68019125354. 2
68019125355. 3

68019125356. 4

Question Number : 15 Question Id : 6801916466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Theory of Non-unity of God and Soul (Dualism/Dvaita) was developed by :

1. Shankaracharya
2. Ramanujacharya
. Madhvacharya

4. Nimbarkacharya

L

Options :

68019125357. 1
68019125358. 2
68019125359. 3

68019125360. 4

Question Number : 15 Question Id : 6801916466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019125357. 1
68019125358. 2
68019125359. 3

68019125360. 4

Question Number : 16 Question Id : 6801916467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
(Author) (Book)
rade and Civilization in the Indian
A A Alekar I Trade and Civilizatio the Indiar
Ocean
K A Nilkanta s L
B. Sastri 1. |History of Bengai
C. |K.N. Chaudharn II1. | The Rashtrakutas and their times
D. |JN. Sarkar IN. | The Cholas

Choose the correct answer from the options given below:

. (A) - (IIT). (B) - (II). (C) - (I). (D) - (IV)
(A) - (). (B) - (IT). (C) - (IV). (D) - (II)
- (A) - (II). (B) - (IIT). (C) - (I). (D) - (IV)
. (A) - (D). (B) - (IV). (C) - (I). (D) - (II)

2 =
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Options :

68019125361. 1
68019125362. 2
68019125363. 3

68019125364. 4

Question Number : 16 Question Id : 6801916467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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L. (A)-(II). (B)-(1I). (C)-(I). (D)-(IV)
2. (A)-(I). (B)-(III). (C)-(IV). (D)-(II)
3. (A)-(ID). (B)-(III). (C)-(I). (D)-(IV)
4. (A)-(III). (B)~(IV). (C)~(I). (D)-(1I)



Options :

68019125361. 1
68019125362. 2
68019125363. 3
68019125364. 4

Question Number : 17 Question Id : 6801916468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the poems the Cholas are referred to as:

1. Mannar

2. Kavirt Kilavon
3. Kerala Kilavon
4. Amntina Enat

Options :

68019125365. 1
68019125366. 2
68019125367. 3
68019125368. 4

Question Number : 17 Question Id : 6801916468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019125365. 1

68019125366. 2



68019125367. 3
68019125368. 4

Question Number : 18 Question Id : 6801916469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who was the editor of the' Amrit Bazar Patrika'?

1. Gopal Krishna Golkhale
2. Motilal Ghosh

3. Surendranath Banerjee

4. Brahmabandhab Upadhyay

Options :

68019125369. 1
68019125370. 2
68019125371.3

68019125372. 4

Question Number : 18 Question Id : 6801916469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019125369. 1
68019125370. 2
68019125371. 3
68019125372. 4



Question Number : 19 Question Id : 6801916470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who amongst the following was not part of the Congress Socialist Party?

1. Narendra Dev

2. Minoo Masani

3. C. Rajagopalachari
4. Achhyut Patwardhan

Options :

68019125373. 1
68019125374. 2
68019125375. 3

68019125376. 4

Question Number : 19 Question Id : 6801916470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafaiad @ 9 oF S FIRIfeRe urel &l s sl 42
1. N dd
2. HI A9
3. 9l ISR
4. 37=gd geayd

Options :

68019125373. 1
68019125374. 2
68019125375. 3

68019125376. 4

Question Number : 20 Question Id : 6801916471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
Who was the First President of All India Kisan Sabha ?

1. Lala Lajpat Rai

2. Sahajanand Saraswati
3. Jawaharlal Nehru

4, Baba Ramchandra

Options :

68019125377. 1
68019125378. 2
68019125379. 3

68019125380. 4

Question Number : 20 Question Id : 6801916471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AR YR f5g 94T & U el i U2

1. AT ATl d I
2. geuiHe 93]
3. SidleXdld He&
4. ST HAS

Options :

68019125377. 1
68019125378. 2
68019125379. 3
68019125380. 4

Question Number : 21 Question Id : 6801916472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in chronological order:

(A). Shankara wrote a famous commentary on the Brahmasutra
(B). Development of materialist philosophy

(C). Ramanuj's commentary on the Brahmasutra

(D). Compilation of the Brahmasutra of Badarayana

Choose the correct answer from the options given below:

1. (A). (D). (C). (B).
2. (A), (B). (C). (D).
3.(B). (A). (D). (C).
4. (B). (D). (A). (C).

Options :

68019125381. 1
68019125382. 2
68019125383. 3

68019125384. 4

Question Number : 21 Question Id : 6801916472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fafeied o STarpie $H ¥ aieyd B
(A) TH A STERHA W U Uirg St ford!
(B) Hifdeard] a2 &1 fder

(C) SRR TR IHS ®f Elbl

(D) §S1UU & SIRRIA DI Hhar

- feu e fden O 9 9el S I |

1. (A). (D). (C). (B)
2. (A). (B). (C). (D)
3. (B). (A). (D). (C)
4. (B). (D). (A). (C)

Options :

68019125381. 1
68019125382. 2
68019125383. 3

68019125384. 4



Question Number : 22 Question Id : 6801916473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who established Vikramshila University?

1. Kumaragupta
2. Rudradaman
3. Dharampal

4. Gopal I

Options :

68019125385. 1
68019125386. 2
68019125387. 3

68019125388. 4

Question Number : 22 Question Id : 6801916473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faepaRar fayfaenay o -IgAT - &I

1. PRI
2. bgqlHA
3. yHaE
4. TMOTEA T
Options :
68019125385. 1
68019125386. 2
68019125387. 3

68019125388. 4

Question Number : 23 Question Id : 6801916474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Sir Richard Strachey Commission was established in year ?

1. 1880
2. 1866
3. 1858
4. 1942

Options :

68019125389. 1
68019125390. 2
68019125391. 3

68019125392. 4

Question Number : 23 Question Id : 6801916474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

IR RES Wl omanT foo v & w11Ud fasam 7 o1 2

. 1880
. 1866
. 1858

4. 1942
Options :

fas 2 —

68019125389. 1
68019125390. 2
68019125391. 3

68019125392. 4

Question Number : 24 Question Id : 6801916475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
(Theory proposed) (proposed by)
A |Tngonometry, P1 and Decimal value I |Aryabhatta
B. |Rules governing Sanskrit II. |Panim
C. |Astronomical thoughts in Brihatsamhita | III |Brahmagupta
D |Algebra and Quadratic formula IV. |Varahamihira

Choose the correct answer from the options given below:

1. (A) - (II). (B) - (II). (C) - (I). (D) - (IV)
2. (A) - (D), (B) - (I1I), (C) - (ID), (D) - (IV)
3. (A) - (I). (B) - (II). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019125393. 1
68019125394. 2
68019125395. 3
68019125396. 4

Question Number : 24 Question Id : 6801916475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gt 11 9 [ S
1 TR 11

( T i) CESIEED)
A |PIuiafa, Urs IR c¥Eaa A | 1 |3dye
B. |€%d &I [aFgfid o arel Fga| 1. [oifoE
C. |gecfed ¥ @iy fdar 111 |[srara
D. [dTsFiod 3R aqy 9 IV, [aRTEfEfER
A feu e fosed B 9 981 S I |

1. (A) - (ID). (B) - (II). (C) - (I). (D) - (IV)
2.(A)- (D). (B) - (). (C) - (II). (D) - (IV)
3.(A) - (D). (B) - (I). (C) - (IV). (D) - (IIT)
4. (A) - (). (B) - (AV). (C) - (I). (D) - (II)

Options :



68019125393. 1
68019125394. 2
68019125395. 3

68019125396. 4

Question Number : 25 Question Id : 6801916476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following events in chronological order:
(A). Construction of Brihadishwara temple completed.
(B). Vijayalaya captured Tanjore.

(C). Rajendra I took title of Gangaikondachola.

(D). Rajaraja attacked Quilon.

Choose the correct answer from the options given below:

. (D). (A). (O). (B).
. (D). (B). (C). (A).
.(B). (A). (D). (C).
.(B). (D). (A). (C).

fas b2 —

e,

Options:

68019125397. 1
68019125398. 2
68019125399. 3
68019125400. 4

Question Number : 25 Question Id : 6801916476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafeiad ge-msi ©! BIarh e hH § oHaiid ov:
(A) TESIaR HieR BT 470 g1 g3

(B) faoiarerg A dolik UR deoll o |

(C) IO UYH A TS Hisraid &I IUTY T80 &l

(D) ISR A fHa 9= gHa [l

A feu e fosedl § 9 gl SuR I |

. (D). (A). (O). (B).
.(D). (B). (C). (A).
.(B). (A). (D). (C).
4. (B). (D). (A). (C).

fad b —

Options:

68019125397. 1
68019125398. 2
68019125399. 3
68019125400. 4

Question Number : 26 Question Id : 6801916477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In 1921, the government appointed a Fiscal Commussion under the Chairmanship
of .

. Thomas Holand

. Lord Baring

3. Ibrahim Rahimtoolah
4. William Digby

| ]

Options :

68019125401. 1
68019125402. 2
68019125403. 3

68019125404. 4

Question Number : 26 Question Id : 6801916477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

1021 H, TWHR A DI & H U AN 1l e foar

>, S A

33@@141%%@613
4. fafagy fowdt

Options :

68019125401. 1
68019125402. 2
68019125403. 3

68019125404. 4

Question Number : 27 Question Id : 6801916478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Temples) (Places)
A |Kandariva Mahadev temple I. |Bodh Gava
B. |Lingaraja temple II. |Travancore
C. |Buddhist temple I1I. |Khajuraho
D. |Suchindram temple IV. |Bhubaneswar

Choose the correct answer from the options given below:

- (A) - (IV). (B) - (IIT). (C) - (I). (D) - (II)
- (A) - (III). (B) - (II). (C) - (I). (D) - IV)
(A) - (D). (B) - (II). (C) - (IV). (D) - (I1I)
- (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

|

e T

Options :

68019125405. 1
68019125406. 2
68019125407. 3

68019125408. 4



Question Number : 27 Question Id : 6801916478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gt 11 9 [ S

E_[ =

Gl Agled AfeT | 1 [Srerm
feTTe ofe i EIELGA
g Ay 1L @ﬁﬁé

RIEERKIES IV, [ya=eR
- feu e fdsed & 9§ el SR I |

- (A)-(IV). (B)~(IIT). (C)-(I). (D)-(II)
- (A)-(II). (B)-(II). (C)-(I). (D)-(IV)
(A)-(I). (B)-(II). (C)-(IV). (D)-(III)
- (A)-(III). (B)-(IV). (C)~(I). (D)~(II)

>

o|o|w

T ba —

s

Options:

68019125405. 1
68019125406. 2
68019125407. 3
68019125408. 4

Question Number : 28 Question Id : 6801916479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The capital of Gurjar-Pratihara was at

1. Ujjain

2. Kannauwy

3. Manyakhet
4. Thaneshwar

Options:
680191254009. 1
68019125410. 2



68019125411. 3

68019125412. 4

Question Number : 28 Question Id : 6801916479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TToR-UfIER B AT o |

1. 3o
2. FeTl

3. gradd

4. YR

Options :

680191254009. 1
68019125410. 2
68019125411. 3

68019125412. 4

Question Number : 29 Question Id : 6801916480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following events in chronological order:

(A). The Rand Murder at Poona.

(B). Madan Lal Dhingra shot dead. William Curzon Wyllie.

(C). A bomb was thrown on Lord Harding on s state entry in Chandni Chowk.
(D). Shyamji Krishnavarma eatbalished the India House.

Choose the correct answer from the options given below:

1. (A). (D). (B). (C)
2. (A). (B). (C). (D).
3. (B). (A). (D). (C).
4.(C). (B). (D). (A).

Options :

68019125413. 1



68019125414. 2
68019125415. 3

68019125416. 4

Question Number : 29 Question Id : 6801916480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad ge-msi &1 Srarsh e $H ¥ ogdiRyd &y
(A)GAT IS DI gy

(B) He ad 2TRT = faferas ool amgelt &l el Jrt

(C) Il 9% § dis gIfe7 & IGd ™ Ua¥ & 9AY 39 W a4 Bl 1]
(D) RATHGI HWIGH - 55T 5139 I faar

- feu e fas el O 9§ 981 S I |

1. (A). (D). (B). (C)
2. (A). (B), (C). (D).
3. (B). (A), (D). (C).
4. (C). (B). (D), (A).

Options :

68019125413. 1
68019125414. 2
68019125415. 3

68019125416. 4

Question Number : 30 Question Id : 6801916481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in chronological order
(A). Prithvira; Chauhan ascended the throne.
(B). Death of Mahmud in Ghazni.

(C). Death of Alha and Udal.

(D). Vigraharaj captured Delhi from Tomars.

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (B). (D). (A). (C).
3. (B). (A). (D). (C).
4. (C). (B). (D). (A).

Options :

68019125417. 1
68019125418. 2
68019125419. 3

68019125420. 4

Question Number : 30 Question Id : 6801916481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafaiad o Srarhis HH I saieyd o1
(A) JRTS 918, RigRH W €81

(B) ToH! § T51E &1 Y

(C) 3TT8T 3R 3ad DI Y

(D) fqurewe = Rl € et 8

A= feu e faeedl o 9 get 3w 1

1. (A). (B). (C). (D)
2. (B). (D). (A). (C)
3.(B). (A). (D). (C)
4. (C). (B). (D). (A)

Options :

68019125417. 1
68019125418. 2
68019125419. 3

68019125420. 4



Question Number : 31 Question Id : 6801916482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following Mughal chronicles and memoirs in chronological order:
(A). Babur's memoirs translated into Persian as Babur Nama

(B). Gulbadan Begum begins to write the Humayun Nama

(C). Lahori composes the first two daftars of the Badshah Nama

(D). Jahangir wrote his memoir 'Jahangimama'

Choose the correct answer from the options given below:

.(B). (A). (D). (C).
_(A), (B). (C). (D).
.(B). (A). (C). (D).
4. (C). (B), (D). (A).

| I

L)

Options :

68019125421. 1
68019125422, 2
68019125423.3
68019125424. 4

Question Number : 31 Question Id : 6801916482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

[Frafiad Qe Sfagr 3R SRR &1 I He Y O saiid i
(A) STeR & SERUM & BRI T §T6R A1 & =9 I 414 a1
(B) T[CTa & = gHTY 1 forg =1 == fobar

(C) TTRRI = SIGRNE A1 & U8 al GUIRI I T 1 |

(D) S8R = 310 GEHRUT, FEIIR 14T ford |

- fau e fawenl T 9 981 SR I |

.(B). (A). (D). (C)
.(A). (B). (C). (D)
.(B). (A). (C). (D)
4.(C). (B). (D). (A)

b

L)

Options :

68019125421. 1



68019125422. 2
68019125423. 3

68019125424. 4

Question Number : 32 Question Id : 6801916483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was the first Surveyor General of India?

1. Alexander Greenlaw
2. 1.F. Fleet

3. John Marshall

4. Colin Mackenzie

Options :

68019125425 1
68019125426. 2
68019125427. 3

68019125428. 4

Question Number : 32 Question Id : 6801916483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YRd P Jed TeHa &P B 42

1. fcigaley Al

2. 0. UW, Tl

3.G|”Fitrrsffa_

4. PITer Hapoil

Options :

68019125425. 1
68019125426. 2
68019125427. 3

68019125428. 4



Question Number : 33 Question Id : 6801916484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST1I LISTII
(Tools tvpe) (Associated Culture)
A |Acheulian Handaxe| I. |[Neolithic
B. |Levallois scrapper | II. |Lower Palasolithic
C. |Celt III. |[Middle Palaeolithic
D. |[Microliths IV. |Mesolithic

Choose the correct answer from the options given below:

(A) - (1. (B) - (). (C) - (IV). (D) - (II)
- (A) - (D). (B) - (I). (C) - (IIT). (D) - (IV)
(A) - (II). (B) - (III). (C) - (I). (D) - (IV)
. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

fas b2 —

e

Options:

68019125429. 1
68019125430. 2
68019125431.3
68019125432. 4

Question Number : 33 Question Id : 6801916484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



gt 151 gdt 11 ¥ [HaE $ifen

I I
Gﬂaﬂf[%?m mﬁwﬁ)
A |T=gfT £US U (URGT §%-$6R )| L |79 Ui @1
B. [d9disy BHUR (dicidrs GiaH) II. [ QRI9TeIo] ®re
C. [Hee ( A Peardl) I11. |7 qRIUTETT et
D. [ATgshIfery ( Y& urem ) IV, [9e grew @1
4 f3U T fae el & 9 9el SR TH|

L. (A)-(I). (B)-(II). (C)-(IV). (D)-(III)
2. (A)-(ID). (B)-(I). (C)-(IIT). (D)-(IV)
3. (A)-(II). (B)-(III). (C)~(I). (D)-(IV)
4. (A)-(IID). (B)-(IV). (C)-(I). (D)-(II)

Options :

68019125429. 1
68019125430. 2
68019125431.3

68019125432. 4

Question Number : 34 Question Id : 6801916485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who coined the terms 'great and little traditions' to describe the cultural practices
of peasant societies?

. Richard M. Eaton
. John Stratton Hawley

. David N. Lorenzen
. Robert Redfield

Options:

L e

68019125433. 1
68019125434. 2
68019125435. 3
68019125436. 4



Question Number : 34 Question Id : 6801916485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fEr e TSl &1 TG Tad TSl &1 aui B & 7T HeH iR Y R
Ysaraci fog §1%?

1. s g 3
2. ST Ted glat
3. 3fds U4, dioiA
4. a2 YSHIeS

Options :

68019125433. 1
68019125434. 2
68019125435. 3

68019125436. 4

Question Number : 35 Question Id : 6801916486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Terms) (Associated with)
A Dendroctunonlogy [. |Eemains of dead organism
B. |Palasontology II. |Tree ring dating
C. |Ethnography III. |Study of ancient writing
BBl v Study of living culture and

COMIMunities

Choose the correct answer from the options given below:

(A)- (D). (B)-(II). (C) - (II). (D) - IV)
- (A) - (I). (B) - (D. (C) - (IV). (D) - (IIT)
(A)- (). (B) - (I). (C) - (IV). (D) - (IIT)
- (A) - (D). (B) - (IV). (C) - (). (D) - (D)

2 =

e Laa

Options :

68019125437. 1



68019125438. 2
68019125439. 3

68019125440. 4

Question Number : 35 Question Id : 6801916486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gt 11 ¥ [HaE $iforn
I 11
(ﬂggﬁﬂ) @ﬂ%ﬁ%ﬂuﬂa@
A |SSMmrst | 1 [ga el & saEw
B [Uciiefieraitsr | 1w |1 fr Sfé ( 9&f @l &1 &iet 71U )
C. |oy=rT®] 111 |UTfH TReH &1 S{eaaH
D. [Ofcmmmsl | v, [Slifdd Uegid SR 9ar! &1 Hag

-9 feu U fd@enl O 9 9ol S I |

(A)-(I). (B)-(II). (C)-(III). (D)-(IV)
A(A)-(I). (B)-(I). (C)-(IV). (D)-(III)
- (A)~(I). (B)-(IT). (C)~(IV). (D)-(I1T)
(A)=(II). (B)-(IV). (C)-(111). (D)-(1)

fasd B2 —

=

Options :

68019125437. 1
68019125438. 2
68019125439. 3

68019125440. 4

Question Number : 36 Question Id : 6801916487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In order to improve cultivation in the doab, Muhammad Tughlaq launched a
scheme. For this he established a department. called :

1. Diwan-1-kuh

2. Diwan-i-risala

3. Diwan-1-amir-1-kohi
4. Diwan-1-gazi

Options :

68019125441. 1
68019125442, 2
68019125443, 3

68019125444. 4

Question Number : 36 Question Id : 6801916487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&1377e H Wil § YR B & o, Jemie gieie 4 U gioHl & . g8
U 39 A9 f[AunT &1 o= ot

1. dlaF-t-3%

2. dlaH-u-Rara

3. dlaM-U-3HR-U-Fle!
4, SIaE-UITTSI

Options:

68019125441. 1
68019125442. 2
68019125443. 3
68019125444. 4

Question Number : 37 Question Id : 6801916488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Who constructed the famous Char Minar?

. Muhammad Quli Qutb Shah
. Mir Zumla

3. Qutub Shah

4. Shah Beg Khan

Iad =

Options :

68019125445. 1
68019125446. 2
68019125447. 3

68019125448. 4

Question Number : 37 Question Id : 6801916488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g, IR IR &1 ey feg s e

1. He®G Poil e U8
2. HIR oAl
3. 9ge I8
4. QT8 ST
Options :
68019125445 1
68019125446. 2
68019125447. 3

68019125448. 4

Question Number : 38 Question Id : 6801916489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following 1s the largest single dome ever constructed?

1. Gol Ghar

2. Gol Gumbaz

3. Taj Mahal

4. Buland Darwaza

Options :

68019125449. 1
68019125450. 2
68019125451. 3

68019125452. 4

Question Number : 38 Question Id : 6801916489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafaRad @ 9 1F 91 &@ a & 964 981 Uhd a4 o7

1. T &R

PRIICEICE
3. dro/Hgd
4. §aig axarsl

Options :

68019125449. 1
68019125450. 2
68019125451. 3
68019125452. 4

Question Number : 39 Question Id : 6801916490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



African traveller Ibn Battuta came to India in the reign of

. Alauddin Khilji

. Ibrahim Lodhi

. Sikandar Lodhi

4. Muhammad Bin Tughlaq

|

L]

Options :

68019125453. 1
68019125454. 2
68019125455. 3

68019125456. 4

Question Number : 39 Question Id : 6801916490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3BID! Il g¢ Sqdl fHdsd Yo § YR S

1. MAT3s A Racol
2. gellfey el
3. Fdex qiel

4. HgHS fa s

Options:

68019125453. 1
68019125454. 2
68019125455. 3

68019125456. 4

Question Number : 40 Question Id : 6801916491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Shah Jahan's Balkh campaign started in

1. 1630
2. 1640
3. 1646
4. 1655

Options :

68019125457. 1
68019125458. 2
68019125459. 3

68019125460. 4

Question Number : 40 Question Id : 6801916491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
QEuTe] @] §d SR 55 a4 Y= [T 1T

. 1630
. 1640
. 1646
4. 1655

Options :

a3 =

L]

68019125457. 1
68019125458. 2
68019125459. 3
68019125460. 4

Question Number : 41 Question Id : 6801916492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Books (Authors)
A The Agrarian System of Mughal I Harbans Mukhia

India
B. |Parties and Politics at Mughal Court | II. |Athar Al

The Mughal Nobility under
Aurangzeh

ITI. | Satish Chandra

Historians and Historiography

during the Reign of Akbar VG | kel iaba

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (II). (C) - (II). (D) - (IV)
2. (A)-(IV). (B) - (II). (C) - (II). (D) - (I)
3. (A)-(I). (B) - (III). (C) - (IV). (D) - (II)
4. (A)-(IV). (B) - (I). (C) - (III). (D) - (II)

Options :

68019125461. 1
68019125462. 2
68019125463. 3

68019125464. 4

Question Number : 41 Question Id : 6801916492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gl 191 gt 1 4 faH S

A1 I

(D) fgilﬁ)
A |& o favew o A sfem I |gRaE gRa
B. |Urcis Ug Uifeiiced Ue g71a dic I1. |3fdER 3t
C. |1 77t AIfaferdt 3ier SiRTolE 1L |G 9%
D. [BwiRdg 1S fEwi®! S & 3 A% AFa | IV, [SXeH e
- fau e fdedl 0 9 9ol S I |

L. (A)-(I). (B)~(II). (C)-(III). (D)~(IV)
2. (A)-(IV). (B)-(II1). (C)~(IL). (D)-(I)
3. (A)-(I). (B)-(III). (C)-(IV). (D)-(II)
4. (A)-(IV). (B)-(I). (C)-(III). (D)-(II)



Options :

68019125461. 1
68019125462. 2
68019125463. 3

68019125464. 4

Question Number : 42 Question Id : 6801916493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who amongst the following synthesised various Ragas of Indian music by mixing
Indian and Irani musie tradition?

1. Shahzad Muhammad
2. Kallinath and Tansen
. Gopal Nayak
. Amir Khusro

Options :

e g

68019125465. 1
68019125466. 2
68019125467. 3
68019125468. 4

Question Number : 42 Question Id : 6801916493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

frafafad § 9 fog YRAIg 3R g3t 9ifid ORT & fiaes YRdg 39d &
fafTre I 1 T Bl 2

1. TGS HEHIG

2. HTY IR A
3. 7191 A1dd

4. 3HR TR

Options :

68019125465. 1



68019125466. 2
68019125467. 3

68019125468. 4

Question Number : 43 Question Id : 6801916494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following in the context of Mahatma Gandhi and identify the correct
statements:

(A). In 1918, Mahatma Gandhi intervened in a dispute between the workers and
mill owners of Ahmedabad.

(B). In workers movement of Ahmedabad. Gandhi demanded better working
conditions for the textile mill workers.

(C). Inworkers movement of Ahmedabad. Gandhi advised the workers to go on
strike and to demand 25 percent increase in wages.

(D ) In 1918, Gandhi mobilised the peasants of Ahmedabad against the
exploitation of European indigo-planters.

In light of the above statements, Choose the correct answer from the options given
below:

1. (A) and (C) only.
2. (A) and (B) only.
3. (B) and (D) only.
4. (C) and (D) only.

Options :

68019125469. 1
68019125470. 2
68019125471.3

68019125472. 4

Question Number : 43 Question Id : 6801916494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TeTe ieh & Geu § Fafeiad W ffar &% 3R 98 oyl of ggaE &
(A) 1918 T HETS Tieh 5 sgHgEE & 4He! SR fid afve! & 99 U®
faare o gxday foan
(B) EHAMEIE & Y% 3fiaia- |, MEl 5 HusT Hd 4H®| & iU SrH HA
@] IEaR IIdl/ SRS B AR B
(C ) BTG & YHE Higiad J T 3 D] & gsard W o SR Jelgl
o 25 WicRId gis oI Hiv B B Jalls o |
(D) 1918 B TTEl ¥ TG Ae-aRTH Hifeiep| & N0 & EATS HgHSEIE D
fergr=1 o1 Terfad foar|
SWRIgd B & 3fcls O, A f§U U fdeeni O 9 Jel 3w I

1. %ad (A) 3R (C)

2. %ad (A) 3R (B)

3. %ad (B) 3R (D)
4,944 (C) 3R (D)

Options:

68019125469. 1
68019125470. 2
68019125471.3
68019125472. 4

Question Number : 44 Question Id : 6801916495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Abbevillian tools industry is associated with

1. Upper Palaeolithic
2. Middle Palaeolithic
. Lower Palaeolothic
4. Mesolithic

Options :

LS

68019125473. 1
68019125474. 2
68019125475. 3
68019125476. 4



Question Number : 44 Question Id : 6801916495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Tsldferas SYHRU I oS g3 B

. BTR QRIUTNIU] Sl

- He QRIYIYIU] Sl
EeRNEL eI

4. HIfeiids, He QI9TurhTa

Options :

fag 2 —

68019125473. 1
68019125474. 2
68019125475. 3
68019125476. 4

Question Number : 45 Question Id : 6801916496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Ibn Batuta there were twenty eight gates of Delhi which wrere called
darwazas. Of these the ————mmmmmemaemm- darwaza was the greatest.

1. Budaun

2. Mandwi

3. Gul

4, Mori
Options :
68019125477. 1
68019125478. 2
68019125479. 3

68019125480. 4

Question Number : 45 Question Id : 6801916496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

59 §qd1 & 39K foeeh & gra gR O f9= axars wel S o 576 9 oo
----------- ZRATS Fa FST 2]

1. a1,
2. Higadl
3.71d
4. AR1

Options:

68019125477.1
68019125478. 2
68019125479. 3
68019125480. 4

Question Number : 46 Question Id : 6801916497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Little Boy and Fat Man were

1. Code name of Al research
2. Nuclear Bombs

. Super Computers

4. Digital Softwares

L]

Options :

68019125481. 1
68019125482. 2
68019125483. 3

68019125484. 4

Question Number : 46 Question Id : 6801916497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1.T. 35, EUH & DS M
2. O] §9

3. R DGR
4. f&foied giuedmr

Options :

68019125481. 1
68019125482. 2
68019125483. 3

68019125484. 4

Question Number : 47 Question Id : 6801916498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following and identify the correct statements:

(A). In 1761-62 Haider Ali conquered Hoskote. Dod Bellapur. Sera. Bednur etc.
and subjugated the Poligars of South India.

(B). The Maratha under Peshwa Madhav Rao frequently raided Mysore territory
and defeated Haider Ali in 1764.

(C). Treaty of Mangalore of 1784 occured between Haider Ali and the British.
(D). Haider Ali was eager to learn and showed appreciation of western sciences
and western political philosophy and supported a proposal to set up Jacobin Club.

Choose the correct answer trom the options given below:

1. (A) and (B) only.
2. (A) and (C) only.
3. (B) and (D) only.
4. (C) and (D) only.

Options :

68019125485. 1
68019125486. 2
68019125487. 3

68019125488. 4

Question Number : 47 Question Id : 6801916498 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Fafafed &R [TaR & 3R 981 HUH B UgaH o3

(A) 1761-62 T §ax el 7 GHDIC, SIS SealqR, W1, 96 3M1fe R o ura
1 R &0 YR & AR &1 394 319 o= e

(B) TRTAT TT8/d G & AJcd H TIRIG] 7 SaRR YR &3 IR g0 a1 3R 1764
¥ 8% 3rcit ol g

(C) B 3t 3R 3T & i 1784 BT HTAR Bt IR B3

(D) BaR el TR T IgP U1 3R g4 ufdt o iR ufzedi eifas
SYH B URT B aYT UHia- god $I STIT & 9T & 9 |

- U e fasedi & 9§ 96l SR A |

1. %ad (A) 3R (B)
2. ad (A) 3R (C)
3. %4ad (B ) AR (D)
4.%dd (C) 3R (D)

Options :

68019125485. 1
68019125486. 2
68019125487. 3

68019125488. 4

Question Number : 48 Question Id : 6801916499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sarla Devi Chaudharani was associated with the:

1. Bangiya Nar1 Sama;

2. Bharat Stree Mahamandal
. Rashtriya Stree Sangh

4. Des Sevika Sangh

L]

Options :
68019125489. 1
68019125490. 2

68019125491. 3



68019125492. 4

Question Number : 48 Question Id : 6801916499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT <41 FieRT Hgfotad 3 gmg o

1. |t AR ga91
2. YRd Wi HgHad

3. P W HY
4. 3Y Yfdp1 49

Options :

68019125489. 1
68019125490. 2
68019125491. 3

68019125492. 4

Question Number : 49 Question Id : 6801916500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who opined that 'Bengal united 1s a power' and 'Bengal divided will pull in several

4

different ways', °

1. Lord Morley
2. Lord Minto

3. Lord Curzon
4. Herbert Risley

Options :

68019125493, 1
68019125494, 2
68019125495, 3

68019125496. 4



Question Number : 49 Question Id : 6801916500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fo g Pal b Ggaa &7d U Qfdd & SR TaUoId a7t Sl feT-3ie
fE=mafi & SR 2

1. @8 Aict
2. die el
3. e doi
4. gole feoral

Options :

68019125493. 1
68019125494. 2
68019125495. 3

68019125496. 4

Question Number : 50 Question Id : 6801916501 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following Viceroys in chronological order:
(A). Marquess of Linlithgow

(B). Lord Wavell

(C). Lord Irwin

(D). Lord Mountbatten

Choose the correct answer from the options given below:

.(B). (A). (D). (C).
.(C). (B). (A). (D).
.(B). (C). (A). (D).
.(C). (A). (B). (D).

- =

e s

Options :

68019125497. 1
68019125498. 2
68019125499. 3

68019125500. 4



Question Number : 50 Question Id : 6801916501 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafiad arRRET &1 SIarhiie B § Haieyd ov:
(A) TTHY AT femferu

(B) @IS dad

(C) @ls gfad

(D) @5 AT3cdeH
- feu e fas el O 9§ 981 S I |

.(B). (A). (D). (C).
.(C). (B). (A). (D).
.(B). (C). (A). (D).
.(C). (A). (B). (D).

fagd b2 —

iy

Options :

68019125497. 1
68019125498. 2
68019125499. 3
68019125500. 4

Question Number : 51 Question Id : 6801916502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Consider the following in context of Constituent Assembly Debates and framing
of Constitution of India and identify the correct statements:

(A). Constitution of India was finalised by the Constituent Assembly on December
26. 1940,

(B) The Draft Constitution provided for two lists of subjects: Union and State.

(C). B.R. Ambedkar wanted a strong Central Government. much stronger than the
Centre created under the Government of India Act, 1935.

(D). Reallocation of powers and rights of the states were defended by K.
Santhanam from Madras.

In light of the above statements, Choose the correct answer from the options given
below:

1. (A). (C) and (D) only.
2. (A) and (B) only.
3. (B) and (C) only.
4. (C) and (D) only.

Options :

68019125501. 1
68019125502. 2
68019125503. 3

68019125504. 4

Question Number : 51 Question Id : 6801916502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Gfgem gy o g89f 3R YRd & Gy & e & 9o & Fafaffa w
fIaR ©¢ 3R Tel DU &1 TgdH B

(A) 26 [STER, 1949 P FOUH GUT GRT HRd & Hidu™ @l iy =9 ¢ faar
T |

(B ) Tfge & THIg & ¥g 3R oy & fog fawal &t 31 g &1 orer s
HrayT fooar I |

(C) dl. 3R, TESHI U Tolgd hxid TRPR dATEd Y. ol YR TRBR
HIHTH, 1935 & d8d §11U T S DI o1 H dgd i Auigd Ui

(D) BT & &, GUMHH = Ied] & Widad] SR USRI & G: 3de o1 991d
fema|

SWRIF DYl & i 1. A U U fddei O 9 9gl S I

1.%dd (A). (C) 3R (D)
2. %ad (A) 3R (B)
3. %ad (B) AR (C)
4,944 (C) 3R (D)

Options:

68019125501. 1
68019125502. 2
68019125503. 3
68019125504. 4

Question Number : 52 Question Id : 6801916503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
[Governor-Genrals of India) (Period)

A |Lord William Bentinck | 1. |1848-36
B. |Lord Dalhousie II. |1836-38
C. |Lord Canning I11. |1828-35
D. |Lord Ellenborough IV |1842-44

Choose the correct answer from the options given below:

L. (A) - ID). (B) - (I). (C) - (II). (D) - (IV)
2. (A) - (I). (B) - (). (C) - (II). (D) - (IV)
3.(A) - (D). (B) - (I). (C) - (IV). (D) - (IIT)
4. (A) - (D). (B) - (IV). (C) - (D). (D) - (I)



Options :

68019125505. 1
68019125506. 2
68019125507. 3
68019125508. 4

Question Number : 52 Question Id : 6801916503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gdt 11 ¥ [HaH $ifen

A1 T I
(HRE $ TER-Ee)| @dem)
A | fafermasfed |1 |1848-36
B. |dI8 Sdgrel I1.[1856-58
c. [@is & 11| 1828-35
D. |dl8 TeHaR TV|1842-44

4 f3U T fae el & 9 9el SR TH|

. (A) - (II). (B) - (I). (C) - (II). (D) - (IV)
(A) - (I). (B) - (IIT). (C) - (II). (D) - (IV)
. (A) - (). (B) - (II). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

fag b2 —

Options :

68019125505. 1
68019125506. 2
68019125507. 3

68019125508. 4

Question Number : 53 Question Id : 6801916504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In which year, Tara Bai (widow of Rajaram). proposed peace to Aurangzeb?

. 1688
. 1700
3. 1705
4. 1707

Options :

I =

680191255009. 1
68019125510. 2
68019125511. 3

68019125512. 4

Question Number : 53 Question Id : 6801916504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ARI 915 (T9RE @ fdean 5. 3iRveie o wifd &1 uwarg fog av faar 2

1. 1688
2. 1700
3. 1705

4. 1707
Options :
680191255009. 1
68019125510. 2
68019125511. 3

68019125512. 4

Question Number : 54 Question Id : 6801916505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Consider the following and identify the correct statements:

(A). First railway line between Madras and Bombay was opened in 1853.

(B). Universities at Bombay. Calcutta and Madras were established in 1857.

(C). Telegraphic communication with Europe was opened in 1875.

(D). The Vernacular Press Act was passed in 1878.

In light of the above statements, Choose the correct answer from the options given
below:

1. (A) and (B) only.
2. (B) and (C) only.
3.(A) and (D) only.
4.(B) and (D) only.

Options :

68019125513. 1
68019125514. 2
68019125515. 3

68019125516. 4

Question Number : 54 Question Id : 6801916505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafaRad R f[aTR ®X 3R 981 DYl I I8 Pe:

(A) TS 3R §ir & i gl ¥oid drg 1853 H =Y 8% |

(B) S, Padhal 3R Hgd H fayfdemerd 1857 7 w10 fbu g |
(C) TRIY & 1Y SIS J91R 1875 § URY §31T |

(D) TR U Uae 1878 ¥ U1k favar 4T |

SWRIF DYl D el 4, A1 G 7T fgdbedl ¥ I et 3w I

1. %4d (A) AR (B)
2. %ad (B) 3R (C)
3.%ad (A) 3R (D)
4. %4d (B) 3R (D)

Options :

68019125513. 1
68019125514. 2
68019125515. 3

68019125516. 4



Question Number : 55 Question Id : 6801916506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in chronological order:

(A). First Anglo-Burmese war

(B). First Anglo- Maratha war

(C). Second Anglo- Mysore war

(D). Anglo-Nepal War

Choose the correcr answer from the options given below:

1. (A). (B). (C). (D).
2. (A), (D). (C). (B).
.(B). (C). (D). (A).
. (C). (B). (D). (A).

e g

Options:

68019125517. 1
68019125518. 2
68019125519. 3

68019125520. 4

Question Number : 55 Question Id : 6801916506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

frafaRad o1 Srarpie oo o oafyd &
(A) WY 3{iTd-aHl g<

(B) UYH ATI-HRI81 &

(C) fadig JTa-IRR <

(D)3 -ATd I

- fau e fdedl 1 9§ 9ol SR I |

_(A). (B). (C). (D).
.(A). (D). (O). (B).
.(B). (C). (D). (A).
4. (C). (B). (D). (A).

b =

L]

Options :
68019125517. 1
68019125518. 2



68019125519. 3
68019125520. 4

Question Number : 56 Question Id : 6801916507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Consider the following about B.R. Ambedkar and identify the correct statements:
(A). B.R. Ambedkar was appointed the labour member in the Viceroy's council.
(B). He organised the Mahar satyagrah.

(C). He was elected the first president of the All India Depressed Classes League.
(D) He never participated in the Round Table Conferences.

In light of the above statements, Choose the correct answer from the options given
below:

1. (A). (B) and (C) only.
2. (B) and (C) only.
3. (A) and (B) only.
4. (A) and (D) only.

Options :

68019125521. 1
68019125522, 2
68019125523.3

68019125524. 4

Question Number : 56 Question Id : 6801916507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& IR, EEH & g H FHefiied R fdaR &3¢ iR 9al HuH] @1 UgaH
GiTE

(A) dl. 3R, 3SR DI TR P URYS # 4iHd Feg fgad foar mar |
(B) 361+ HER TARIE $1 HATdioH faoar|

(C) I I YRATT afera a7l WY ( T SISU1 [SUES TS 9T &I ugdl
S{I&] 1 T T |

(D) 3=l TMads el H eyl et el feran

SWRIF DYl & ATedid . 1< 4T T faeedl § 9 et SO I

1.dd (A). (B) AR (C)
2. &ad (B) 3R (C)
3. %ad (A) 3R (B)
4.%dd (A) 3R (D)

Options :

68019125521. 1
68019125522. 2
68019125523. 3

68019125524. 4

Question Number : 57 Question Id : 6801916508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

There was a major controversy between the Commander-in-chief and the Viceroy
of India. The Viceroy resigned as he was not supported by the home Government.
The Viceroy was:

1. Lord Chelmsford
2. Lord Linlithgo

. Lord Curzon

4. Lord Minto

Options:

LS}

68019125525. 1
68019125526. 2
68019125527. 3
68019125528. 4



Question Number : 57 Question Id : 6801916508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HRd & HHISI-3-91% 3R a0 & did Uh §a1 [gare 47| aiaeRE =
SHIPI ¢ foul Hifh 36 78 WRBR &1 9HU= I8! e | 98 IRy Ul

1. TS THHe
2. @ls femferut
3. @ls Poid
4. @8 e

Options :

68019125525. 1
68019125526. 2
68019125527. 3
68019125528. 4

Question Number : 58 Question Id : 6801916509 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who among the following argues that 'nationalism in India was a different. but a
derivative discourse from the West'?

. Partha Chatterjee
. Sumit Sarkar

3. C.A. Bayly

4. E.P. Dutt

Options :

|

68019125529. 1
68019125530. 2
68019125531. 3
68019125532. 4

Question Number : 58 Question Id : 6801916509 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ﬁ%}%@ﬁﬁ@f%ﬁﬂﬁ & fob WG H Ayare UidH 9 ogdd , R IEd 04
" oT?

1. g1} Fewt

2. GId WHR

3.0 Ul

4, JR Ul ed
Options :

68019125529. 1
68019125530. 2
68019125531. 3

68019125532. 4

Question Number : 59 Question Id : 6801916510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Khudiram Bose was executed n

. 1905
. 1908
1910
4. 1914

Options:

faa b —

68019125533. 1
68019125534. 2
68019125535. 3

68019125536. 4

Question Number : 59 Question Id : 6801916510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



. 1905
. 1908
. 1210
4.1914

Options:

|

L]

68019125533. 1
68019125534. 2
68019125535. 3
68019125536. 4

Question Number : 60 Question Id : 6801916511 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When did Subhas Chandra Bose announce the formation of Provisional
Government of Free India?

. 1940
. 1941
3. 1942
4. 1943
Options :

|

68019125537. 1
68019125538. 2
68019125539. 3

68019125540. 4

Question Number : 60 Question Id : 6801916511 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



YHIY g €19 = Wdd HRA S 3R GIPR & T3 DI Ul90 &g of Ui

. 1940
. 1941
1942

4. 1943
Options :

2 =

Taa

68019125537. 1
68019125538. 2
68019125539. 3
68019125540. 4

Question Number : 61 Question Id : 6801916512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The Brahmo Samaj Movement was actually taken out of the limited elite circles of
Calcutta literati into the district towns of east Bengal by:

1. Debendranath Tagore

2. Ravindranath Tagore

. Bijoy Krishna Goswanu

. Ishwar Chandra Vidyasagar

e a2

Options :

68019125541. 1
68019125542, 2
68019125543. 3
68019125544, 4

Question Number : 61 Question Id : 6801916512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



STET WHTS Sfigla- & daddl & ifd Hisfde ifHerd ol & aeRi 9
FepTare) gdl §iTTc o foTall WeRi T @I TR 71T 2

1. 45ATY SR
2. G SR
3. fasiTg ey TiEarl
4. 3R 9% fgeR

Options :

68019125541. 1
68019125542. 2
68019125543. 3

68019125544. 4

Question Number : 62 Question Id : 6801916513 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

By which Act . civil servants for India were henceforth to be recruited through an
examination open to all 'natural born subjects of Her Majesty'?

. Charter Act of 1853

. Charter Act of 1833

3. Regulating Act

4, Government of India Act 1919

- =

Options:

68019125545. 1
68019125546. 2
68019125547.3

68019125548. 4

Question Number : 62 Question Id : 6801916513 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



forg SHEFTE gRI, YRA & ¥idd Yoo o Geil IR1&m & qieqd 9 Wl g
S &1 WiaHT a1 a1 {598 Wi fdd U d HgRMI & 9ursd § o= gui
TRT HFT o Febd & 2

1853 @1 I1eX ATy
1833 1 I1eX ATy
fafrge= sifefag

4. HRd WRHR A& 1919

Options :

fad B2 =

68019125545. 1
68019125546. 2
68019125547. 3

68019125548. 4

Question Number : 63 Question Id : 6801916514 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
By the Durand Agreement (1893). the Amir of Afganistan agreed:

1. not to mterfere into the affairs of Khyber Afridis.the Waziris and tribes
inhabiting Swat, Bajaur, Dir and Chitral.

. to formally protect Gilgit.

. to extend support to Chutral.

4. to grant free passage through Bori and Zhob Valley.

| R

L]

Options :

68019125549. 1
68019125550. 2
68019125551. 3

68019125552. 4

Question Number : 63 Question Id : 6801916514 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



S¥S THI (1893) GRI. HBINRAH & SHR A (9 IR gald oged of:

1. WY wifeyl, goiiiRal 3ik Ward., 9o, <R 3R foeme & T84 areit
Sl & ATHd § 8%dag J BT

2. frafig & sfiu=iive =0 I &1 S|

3. Feama & g &)

4. R 3R S 91¢1 & H1end ¥ Gad AR HeH ST

Options :

68019125549. 1
68019125550. 2
68019125551. 3
68019125552. 4

Question Number : 64 Question Id : 6801916515 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Who authored "Unhappy India' ?

1. Gopal Krishna Gokhale
2. Lala Har Dayal

3. Lala Lajpat Rai

4. Md. Igbal

Options :

68019125553. 1
68019125554. 2
68019125555. 3

68019125556. 4

Question Number : 64 Question Id : 6801916515 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

L N B

=

68019125553. 1
68019125554. 2
68019125555. 3
68019125556. 4

Question Number : 65 Question Id : 6801916516 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who wrote the book "Vedic Hymns and Sacred Books of the East' ?

1. B. M. Malabari

2. Bal Gangadhar Tilak
3. Max Mueller

4. Mahatma Gandhi

Options:

68019125557. 1
68019125558. 2
68019125559. 3
68019125560. 4

Question Number : 65 Question Id : 6801916516 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dfce B0 US s ga9 3% &l gie ' J&is (e fagh

1. §I. U9, AeER]

2. 91 TeR fade®

3. ORI goR

4. HETHT T
Options :
68019125557. 1
68019125558. 2
68019125559. 3

68019125560. 4

Question Number : 66 Question Id : 6801916517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The term Bodhisattva refers to:

1. Future Buddha

2. Pupils of Charvaka

3. Jamn philosophy of Syadvad
4. Future Mahavira

Options :

68019125561. 1
68019125562. 2
68019125563. 3
68019125564. 4

Question Number : 66 Question Id : 6801916517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



1
2. 91ai% & TH

3. WIEAIE & o g8
4. HTdl HeTdR

Options :

68019125561. 1
68019125562. 2
68019125563. 3

68019125564. 4

Question Number : 67 Question Id : 6801916518 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Brihadisvara Temple is located in

. Hampi

. Kanchipuram
. Thanjavur

4. Sarnath

o =

Taa

Options :

68019125565. 1
68019125566. 2
68019125567. 3
68019125568. 4

Question Number : 67 Question Id : 6801916518 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



3. AOTaR
4. IRAY

Options :

68019125565. 1
68019125566. 2
68019125567. 3

68019125568. 4

Question Number : 68 Question Id : 6801916519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The revolt of 1857 mainly affected the:

. Madras regiment
. Bengal regiment
3. Bombay regiment
4. Gurkha soldiers

Options:

I =

68019125569. 1
68019125570. 2
68019125571. 3

68019125572. 4

Question Number : 68 Question Id : 6801916519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



1857 & fdglg & g0 =0 9 (49 &! guifad fear
1. Her e
2. |7 ¥foe
3. |itg YforHe
4. TTRET D
Options :
68019125569. 1
68019125570. 2
68019125571. 3

68019125572. 4

Question Number : 69 Question Id : 6801916520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following in the context of Government of India Act 1935 and
identify the correct statements:

(A). The discussions of the Round Table Conferences led to the passing of this Act.
(B). The Congress did not take part in all the Round Table Conferences.

(C). It provided Dyarchy in Provinces .

(D). It provided for setting up of the Federation of India.

In light of the above statements, Choose the correct answer from the options given
below:

1. (A) and (B) only.
2. (A) and (C) only.
3.(C) and (D) only.
4. (B) and (D) only.

Options :

68019125573. 1
68019125574. 2
68019125575. 3

68019125576. 4

Question Number : 69 Question Id : 6801916520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

YR IRPR AT 1935 F T & FafeRed ) GER 3 3R I sy
CIRREIREZE

(A) TITHS FHIE 1 94131 & BRI g DT uikd ga|

(B) BIUY = I MaHS Al § 41T ol femr|

(C) T Widl & 58 X BT HIge 3 |

(D) 59 YRAIG 99 ( BSTH 3% 51S7N) DI RITY-T HT WGy fobar|
SWRIFT BYHl & 31l 1, A1 [qu U faeedi T 9 Iet 3= I

1. &ad (A) 3R (B)
2. %ad (A) AR (C)
3. %4dd (C) 3R (D)
4. %4d (B) AR (D)

Options :

68019125573. 1
68019125574. 2
68019125575. 3

68019125576. 4

Question Number : 70 Question Id : 6801916521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following events of Ranjit Singh's life in chronological order:

(A). Ranjit Singh overthrew the Regency.

(B). Ranjit Singh ousted Bhangi Sardars from Lahore and occupied it.

(C). Ranjit Singh collected tribute from Patiala.

(D). Zaman Shah Abdali. Afghan ruler authorized Ranjit Singh to occupy Lahore
and rule it on behalf of Afghan suzerain.

Choose the correct answer from the options given below:

1. (A), (B). (C). (D).
2. (A). (D). (B). (C).
3. (B). (A). (D). (C).
4. (C). (B). (D). (A).

Options :
68019125577. 1
68019125578. 2

68019125579. 3



68019125580. 4

Question Number : 70 Question Id : 6801916521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oitd g & Giia ®f Hafafad gersdi o1 Srarhiie oo o ogafyd o3
(A) uild [¥g 3 JAoidi &f I@re G| _
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i fRu U faeedi O © ggt 3w IH|

1. (A), (B). (C). (D).
2. (A). (D). (B). (C).
3.(B). (A). (D). (O).
4. (C). (B). (D). (A).

Options :

68019125577. 1
68019125578. 2
68019125579. 3

68019125580. 4

Question Number : 71 Question Id : 6801916522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following into chronological order:

(A). The Hartog Committee

(B). Sadler University Commission

(C). Sergeant Plan of Education

(D). Wardha Scheme of Basic Education

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A), (B). (D). (C).
3.(B). (A). (D). (C).
4. (C). (B), (D), (A).

Options :

68019125581. 1
68019125582. 2
68019125583. 3

68019125584. 4

Question Number : 71 Question Id : 6801916522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fafeied o STarpie $H ¥ aieyd B
(A) SR Il

(B) UsSeR fayfaemery smam

(C) e Hi Aoie dieHA

(D) gFaTdl Aty @1 gef FieHr
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1. (A). (B). (C). (D).
2. (A). (B), (D), (C).
3. (B). (A). (D). (C).
4. (C). (B). (D). (A).

Options :

68019125581. 1
68019125582. 2
68019125583. 3

68019125584. 4



Question Number : 72 Question Id : 6801916523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The Restoration of Bakasht Land Act and Bihar Tenancy Act came in:

. 1931
. 1938
3. 1941
4. 1933

Options:

b =

68019125585. 1
68019125586. 2
68019125587. 3
68019125588. 4

Question Number : 72 Question Id : 6801916523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g1 YT Sifan 3R f4eR feaerRl sftfan &t gerdl suavgs

1931
. 1938
. 1941
4. 1933

Options :

fasa B2 —

68019125585. 1
68019125586. 2
68019125587. 3

68019125588. 4

Question Number : 73 Question Id : 6801916524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Burton Stein described the society of early medieval South India as

1. Nomadic pastoral society
2. Peasant society

. Brahman-Merchant alliance society
4. Craft based urban Vellanvagi society

L]

Options :

68019125589. 1
68019125590. 2
68019125591. 3

68019125592. 4

Question Number : 73 Question Id : 6801916524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FAXH G0 YR & d- A gHS Bl & = H aftfg
fopan|

1. YA~ URUTeID T
2. forgr qETe

3. AIU-Iadl TaaY= JHIS

4. fRreq seivd 2resl aeeHarl 99re

Options :

68019125589. 1
68019125590. 2
68019125591. 3

68019125592. 4

Question Number : 74 Question Id : 6801916525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which Mahayana text gives a flowery narrative of the life of the Gautam Buddha?

. Milindpanha

. Harivanshpurana
3. Lalitavistara

4. Trishashtilakshana

- —

Options :

68019125593. 1
68019125594, 2
68019125595. 3

68019125596. 4

Question Number : 74 Question Id : 6801916525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[ HETaE 4 H TMa §5 & oila- &1 ATGDIND qui g°
| ff
5 =Y
3. AiAdiawR
4. Pfyaemr

Options :

68019125593. 1
68019125594. 2
68019125595. 3
68019125596. 4

Question Number : 75 Question Id : 6801916526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Official language of the Satavahanas was:

1. Tamil
2. Telugu
3. Sanskrit
4. Prakrit

Options :

68019125597. 1
68019125598. 2
68019125599. 3

68019125600. 4

Question Number : 75 Question Id : 6801916526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIddTei B ASTHTT &i:

1. difa
2. ]
3. §%pd
4. Higpd

Options :

68019125597. 1
68019125598. 2
68019125599. 3
68019125600. 4



